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2000000|1. LCLEUSPY GLUUNRSLEP X - 7,400.0 - 16,900.0 - - 25,400.0 - 33,500.0
(wnn 2112000+wnn 2113000)
unn pinnf’
2112000)2. MUSSNLULUL HruUUSLAMCLER X - 4,400.0 - 9,900.0 - - 15,400.0 - 22,000.0
npha'
2112100 | 2.1. Upywiphly upupipntiulyust npusdupinphbip” uipuigdws X - - - - - = - - -
wi wititnnieiniitiinha
2112110(2.1.1. pupwghly wpnwpht wwonnbwlw npwdwyunphutip’ 731100 - o & E -
unwodws win whinnieinitibnha
2112120/2.1.2. uwyhuwy wpuinwpht wwonnbwlwl npudwunphubp' 731200 - - - = .
wnwiadwd win wmnniemiiiinha
21122002.2. Upypwphly wyuwipipntinljuits npuiduwiptinphtibn’ uypnwgywé X - - - - - - - - -
dhowaaunhl lwodwbbnwmeinibitiinha
2112210{2.2.1. pupwghl wpunwpht wwynnuwlwl npwdwunphutp! 732100 - - - - - # -
unwgywd dhowaquiht uqdwlpwnieiniuubinhg
2112220]2.2.2. Ywwjhuw| wpunwpht wwonntwlwl npudwgtnphbp' 732200 - - - . -
unwgyws dhowqquihtt Yuqdwlbpwnieiniututiphg
2112300 (2.3. Llipphts wiwpipnbuulywts npudupinphbln' uipugyuwé X - 4,400.0 - 9,900.0 - - 15,400.0 - 22,000.0
nwiiindiot win dulnunnwbitibnha
2112310)2.3.1. pupwghly ubppht wwownnuwlwl npudwyunphubp’ 733100 - 4,400.0 = 9,900.0 - - 15,400.0 - 22,000.0
unwgyuwsd junwdwpdwt wy) Jwhwprnwyutiphg, win pynd
2112311]2.3.1.1. whwnwlwu pnigkhg, X - 4,400.0 - 9,900.0 - - 15,400.0 - 22,000.0
u Unuf'
2112312|2.3.1.1.1. whwnpjwt Ynndhg wwundhpulws Swiuutiph X - 4,400.0 - 9,900.0 - - 15,400.0 - 22,000.0
thnhihunnmamii
2112313]2.3.1.2. hwdwjuputiph piniybiubiphg X - - - - -
21123202.3.2. uughunw) ubppht wwpunnuwlyw npwdwotnphubp’ 733200 - - - - - - - - -
unwgywd Yunwywpdwt wy) dwlwpnwlubphg,
wyn pynud’
2112321]2.3.2.1. wbwwlwt pinigbhg X - - - - =
2112322|2.3.2.2 hwdwijupubiph pjniplubinhg X - - - - =z
2113000(3. USL tLUUNhSLEN X - 3,000.0 - 7,000.0 - - 10,000.0 - 11,500.0
nnhg'
2113100(3.1. bhwdnunubp ubthwlwunye|ntuhg X - - - - - - - - -
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211313013.1.3. gnuph ywpdwluynipintuhg ilwdnunubp 741500 = = = = - N N =
2113200(3.2. klwdnunubp wypwuptbiph dwnwlwpwpnuhg b X - - 3,000.0 - - 7,000.0 - - 10,000.0 - - 11,500.0
Swnuwinieiniutibnh Junnnianuiha
2113210(3.2.1. blywidnunubp wwyypwptbph dwwnwlwpwpnihg b 742100 - - 3,000.0 - - 7,000.0 - - 10,000.0 - - 11,500.0
Swinunnieiniiibinb Junnnianuiha
2113240(3.2.2. Jupswhw guudnuiubp 742200 = - - - - - - B - . L =
2113242{3.2.2.2. wy) Jwpswlw guiidnidubip X - - = = = < = = = = = 5
2113300/3.3. Ghwdnunubip winydbiphg, wnigwuplubiphg X - = — = = B = B - - - _
2113400(3.4. Uy unbgnphwubipnud snwuwlupgywsd npwuubbipnutp X = = % = . = - % : - 1 _
2113410{3.4.1. Uy Yuinbignphwubpnud snwuwlupgywd pupwghly 744100 - - - - - - - = - % - _
nnububbinntibn
2113411/3.4.1.1 Unipuhnhwubp X - - - - - o = - = B =
2113420|3.4.2. Uy Yunbgnphwubipnid snuuwljunguud Yuuwhwnwy 744200 - - - - w < = _ & = _ -
wnnuubbnintibn
2113500(3.5. Mbnwlwu Yuqiwybpwniegniutubph wy) Ghwdnunutp X - - - _ _ = - i @
1000000|1l. CLAUUELL DUUGLP X - - 9,030.8 - - 18,457.5 - - 27,426.3 - - 35,625.5
(wnn 1100000+ wnn 4000000)
unn mudnnd'
1100000|U. LLEUSHY TUUGT X - - 9,030.8 - - 17,457.5 - - 26,426.3 - - 34,625.5

(wnn 1110000+ wnn 1120000 + wnn 1140000 +unnn
1150000+wnn 1160000+wnnn 1170000)

uun milnnt
1110000(1. UChuUSULLP YUraUSrNhE3NhL X - - 7,981.3 - - 15,962.5 - - 23,943.8 - - 31,925.0
(wnn 1111000+ winp 1112000+wnnn 1113000 +wnnn
1115000+wnn 1116000)
pun milnnf
1111000 - Ughuwinnnibiph woluwwnwdwndbip b hwybwdwpubn 411100 - - 7,106.3 - - 14,212.5 - - 21,318.8 - - 28,425.0
1112000| - Mwpqluwipnulutp, ppudwlwt fupwfunwnudubp W hwanly 411200 - - 875.0 - - 1,750.0 - - 2,625.0 - - 3,500.0
Jawintibn
1113000/ - Pwnwpwghwlwl, nunwlwi b yhnwlw wy 411300 - - - - - - - = - - -
Swpunnntbinh unabiunnnond
1115000] - Uy Jwpdwinpnipiniutbp 411500 - - - - - - - - - - - -
1116000/ - Pubnbt wouwinwydwpébp b hwdbwddwpubp 412100 - - - - - - - - -
1120000(2. TUMU3NKMEI3NRLLEN P B4 UNPULLLE D X - - 1,049.5 - - 1,492.0 - - 2,479.5 - - 2,681.5
QAGMLRPEPNNT

(innn 1121000+ winn 1122000 + winn 1123000+ wnn,
1124000+ wnn 1125000+ nnn 1126000)

vun pilngt

1121000 | 2.1. Swpnibwlpulwt Swipuuby x - - 597.5 - - 845.0 - - 1,062.5 - - 1,244.5
1121100 - Gnpdwntwlwi b pwllwiht Swnwniegniutbiph dwiuubp 421100 - - = - # - = A - - - -
1121200] - Eubipgbiwhl dwnwinipiniuubp 421200 - - 550.0 - - 750.0 - - 920.0 - - 1,055.5
1121300] - Yndnibiw) dwinwiniainiutbn 421300 - - 4.0 - - 8.0 - - 12.0 - - 15.0
1121400/ - Ywwh Swnwynipintutbp 421400 - - 43.5 - - 87.0 - - 130.5 - - 174.0
1121500] - Uywhndwapulwt dwiuubp 421500 - - - - - - - - - - - -
1121600] - Snyph b wvwppwdnpnidubinh Jwpdwlwinyeiniu 421600 = - - - - - - - - - - -
1121700] - Upwnwgbpuwnbuswlw Swiuubp 421700 - - - - - - - - - - - -
1122000 | 2.2. Swnwynquljpwh gnpéminmdtibph gény Swijuukby X - - 25.0 - - 50.0 - - 800.0 - - 800.0
1122100] - Lbipphu grpdnunnudubip 422100 - - 25.0 - - 50.0 - - 50.0 - - 50.0
1122200] - Upunwuwhiwbwl gnpdninnuiubiph gény Swhuubip 422200 - = = = = = = i 750.0 - = 750.0
1122300] - Uj) wnpwitiuynpuwihti dwiuubin 422900 - - - - - - - - - - - -
1123000 | 2.3. NMuydwiwgpuihlr uyy Swnuynipynibbliph d6nppbipnud x - - 50.0 - - 75.0 - - 75.0 - - 75.0
1123100 - Ywipswilyw Swnwinuziniiubp 423100 - - - - - - = - - - -
1123200] - Cwdwlywipgsunht Swnwinieiniiubin 423200 - - - - - - - - - - =
1123300| - Ugfuwnwlwqdh dwutiwghnwlw quipgugdut 423300 - - 50.0 - - 50.0 - - 50.0 - - 50.0
Swinunnisniiitibn,
1123400| - Stinblwwnywlwl dwnwinuyeiniibip 423400 - - - - - - - - - - - -
1123500] - Ywnwwpyulwt Swnwynupiniutibp 423500 = - - - - 5 - - - - < -
1123600] - Ybuqunwyht b hwupwiht vbtinh Swnwinuejniuibp 423600 = - - - - - - - - - - =
1123700/ - Lbphwiwgmgswlhw Swiuubp 423700 - - - - - - - - - - . =
1123800 - Cunhwlnp punyph wy Swnwinupintubibip 423900 & = = - - 25.0 - - 25.0 - - 250
1124000 | 2.4. Uy dwulbwgh ljwls & bubipp dEnppEpmd X - - 112.0 - - 112.0 - - 112.0 - - 112.0
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1124100| - Vwubuwghinwlwl dwnwnieintibn 424100 112.0 112.0 112.0 112.0
1125000 | 2.5. Lupawighly inpngmud U upuwhuywbingd x 20.0 35.0 55.0 75.0
(Swnwynipyitiibp b tynyatip)
1125100] - Shuptiph L Ywnnygubiph pupwghl unpngnid b wwhwwunwd 425100 - - - =
1125200/ - Ukpbuwutiph b uwppunpnufubiph pupwghl unpngnud b 425200 20.0 35.0 55.0 75.0
unuhunutinid
1126000 |2.6. Uynippbip (wuypusbiplibp) X 245.0 375.0 375.0 375.0
1126100] - Spwubtyulunht Ynyetin b hwgniuwn 426100 170.0 300.0 300.0 300.0
1126200] - Yyninwwnunbuwljwy wwypwuputip 426200 - - - 2
1126300/ - Yhpwwwnpwuwndwl b nungdwt Uymipbp (wpluwannnubph 426300 - - - =
awnawadw)
1126400] - Spwuuwnpuiwiht Wynuebip 426400 = = B
1126500] - Spowlw thowduwyph wwzinwwunyejw b ghunwlwi 426500 - - - =
niebin
1126600| - Unnnowuywhwluwis U jwpnpuwinnp Ujnuystip 426600 - - - -
1126700] - Ybugunwht b hwipuyght utiinh Ynebp 426700 75.0 75.0 75.0 75.0
1126800/ - Cwwnntly bwywnwilwiht wy Ujnuyebip 426900
1140000 | 4. UNhPUPANULEP X - 5 2 :
win punid”
1141000] - Untpuhnhutip ng $huwtuwlwt whnwlwu 451100 - - - -
Lnpgdmbbnwnimntiibinhly
1142000| - Unipuhnhuubp $huwtvwlwi wbunwlw 451200 - - - 5
lwadwbbnumembiibnht
1143000| - Untpuhnhuubtip ng whnwlwu ng huwtuwlywt 452100 - - - =
Lnaduwbbnuinuainitinht
1144000] - Unipupnhuiibp ng whnwwt $huwbiuwluwt 452200 - - - -
Lwadwbbnuwmemitibnhi
1150000(5. 1ruvusLNr<LEr X - - = <
win pdnuf’
1153000 | Lopwghly npudwpbnphblp whpwlpwh hwpduwéh wyy x - & B -
dwlwpnuiliblipht
1153500] - Uj) pupwghly npwdwsunphubip hwdwiupubphu 463500 - - = =
1153600| - Cupwghly ypwdwyunphubp whnwlw b hwiwjupught ng 463700 - - _ 2
winbinnuphl hiaiwbbnimenitiubnht
15370| - Cupwghly ppwdwyunphubp wenwhwt b hwdwyupught 463800 - - - =
winlinnupht bwadubbnwneindiibinht
1153800/ - Uy pupwghly npuwdwsunphubp 463900 - - - -
1154000 | Ywyhipuwy npudupbnphibp whypwljuwl hupdwéh wyy x - - - e
dulpupnulibEpht
1154300/~ Uy Yuwhuwy npudwsunphubp hwdwjupubphu 465300 - - - =
1154400] - Ywwhww npudwgunphubp whnwlywy b hwdwiupught ng 465500 - - - or
webinnunhl aiwbibnwm mnititiinhl
1154500]- Ywujhuw ppwdwyunphubp whnwlwt b hwdwjupught 465600 - - = B
wolnnnunbt pahwbbnwnieiniinhl
1154600 |-Uy) Ywughuwy npwdwsunphubp 465700 - - = =
1160000(6. UNShULU4UL LAUUSLLM X - - - »
win pymnd’
1161000 | 6.1. Unghuyauljul wwgwhnynipyul bupuupbily X - = . s
1161100] - Suwyhu winbunieyniiibpht npuwdny Jewpdnn 471100 - = - -
unahwiubt wunshndnienily déwintbn
1161200| - Unghwiwljwl wuywhndnipjut pubnbl tuwuwnubn 471200 - - - -
Swinunnunitiubn Junnnianntiinhl
1162000 | 6.2. Unghwjuljuts oqimyutr npunfurlyuts x - - - -
wmpwhwypyrpudp bywumnbbp (pinbhg)
1162100] - <hJwitunnuejwt L hwpdwunuwidnieiwt buywuwntbp pngbhg 472100 - - o .
1162200] - Uwjpnipjwt bwwuwnubip pinigkihg 472200 - - - "
1162300/ - bpbluwubph Ywd punwublwy bywunubp pingtihg 472300 - - - -
1162400| - Snpdwgplynipjwi bwwuwnubp pjngkihg 472400 - - - 2
1162500| - Yhtuwpnzulh wugubin htinn Juwwyws b tnwphpuyght 472500 - - - -
uwwuntbin piniobha
1162600 | - <ninwipywynpniejwt bwwuwnubp pinwkhg 472600 - - = =
1162700] - Yppwlwu, dywlnpuyht b uwynpunwght twywunubp 472700 - = - =
pinoliha
1162800 - Puwwpuwitwyh bwywuwnubp pinwkhg 472800 - - - =
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1162900] - Uj) uwjwunubp pinigbihg 472900 = = - -
1170000|7. USL oUkULI x 3.0 3.0 - 19.0

win punud’
1171000 |7.1. Ldphpurpdnyaynibbilip ng Gumnwdwpswljub X - - - B
(hwuwpuwlywljub) ugqduwlbpynipimbbbphb
N71100( - Suwyghr nliinbuniegniuubpht Swnuwyniggniuubp dwwnngnn’ 481100 5 g - -
owhnyp shinwuwunnn ugdwlbpwniegniuubphu
Hulbnunnilniminihiibn
1171200( - Lyhpwwnynipgniutibp wy) pwhnype shbnwwunnn 481900 - - - =
bwadwbbnwnueintunh
11720007.2. Swplibp, uypupgpunhp JGupbibp b qinydbp, npnbp X 3.0 3.0 - 19.0
hunwwpduls qpupplip dulpupnuwlbbph Ynndhg
Ubpwindnid b dhdjwlbia bljunpduwdp
1172100 - Usluwwnwiwndh $nun 482100 = = " -
1172200] - Uy hwplbip 482200 = : N _
1172300 - Nwpuwnpp Jéwpubp 482300 3.0 3.0 - 19.0
1172400| - Mwnwluwit hwindwsdh wwppbip dwhwpnwyubph Ynndhg 482400 - - - .
dhdiwua bbwwndwdp bbpwndnn ninudbn
1173000 |7.3. tupwpwbisbph Ynndhg bpwbwlgwsd pnydbp b X, - 3 = -
pniquibiplibin
1173100 - Gwnwpwiliubph Ynndhg Upwtiwlws nnydbp b 483100 - - - -
nmamtiotibn
1174000 |7.4. Puwljusl wnbipbbiphg Yusd wyy pluljuh X - “ - .
yunpbunbibpny wnwgwgwé dhwubibpf fund
dinwudwépbiiph dbnuilwbabined
1174100] - Puwlwu wnbunttiphg wnwwgwd Juwudwsdptbiph Yud 484100 - - - g
Utnutibnh dnwibwtiatinnd
1174200] - U)| pwljwty wywinbwnutipny unwgwé Juwudwsdpubph 484200 - - - -
dbnulnntiationt
1175000 |7.5. Ywnuwyupdwh dwpdhbbubph gnpémbbnipyuh x - = - -
hbsplatpne] wniuguigud duutibph Yund diunufusdpbiph
Gpwlwbabnud
1175100] - Ywnwwpidwu dwpdhtubph gnpdniubingeywt hnluwupny, 485100 - E = -
wnwwgws Juwudwdpubph Ywd Juwuubph Jepwlywugund
1176000 |7.6. Uy dwipuuby X " = - ©
1176100 - Uy dwijuubp 486100 N
1177000 | 7.7. Muhmupuyhli dhongbbip X - 2 P &
1177100 - Mwhnwuwwhu dhongubip 489100 = - - -
4000000(P. N ShLULULLUL ULShUYLLM X 1,000.0 1,000.0 - 1,000.0
(wnnn 1200000 + 1300000)
unn pinnd
1200000|P~U. N2 HhLULULLUL UUShYLEMP G0N DUULP X 1,000.0 1,000.0 - 1,000.0
wyn pynud*
1210000 |1. <PULULUL UhRNSLEN X 1,000.0 1,000.0 - 1,000.0
nnhg'
1211000 - Shupbph L shunieiniuubiph dknppbpnud 511100 o a2 P il
1212000 - Thupbiph b ohtnueiniubph Ywnnignud 511200 - - - -
1213000] - Shupbiph U ohtunipiniuubiph Ywwhuwwy Jepwunpngnud 511300 - E = _
1214000] - Spwuuwnpnwhtu uwppwynpnwubip 512100 - = m -
1215000/ - Ywpswywt uwppwdnpnidubp 512200 1,000.0 1,000.0 - 1,000.0
1216000 - Uy dbpbuwibibp b uwppwydnprwdubip 512900 = B - .
1217000] - Uskgynn wijinpyubip 513100 = - " &
1218100 - Ny uynipwljw hhduwlwu dhongubip 513200 - - N -
1218200/ - Sbnnbghwljwl pwpuinbiquigpulw dwiuubp 513300 = = = _
1218300/|- Lwjuwgdwhbunwgnunwluwt Swiuubp 513400 = N = =
1220000 |2. MUSUrLEP X » B . =
nnhg'
1221000] - Nfwgdwywpwlwl wwowpubp 521100 2 - - -
1222000/ - Lymebp b wwpwquwbp 522100 . » = =
1223000 - Ybpwywsunph hwidwp twfuwnbujwsd wwpwupubp 523100 N = 2 N
1224000] - Uwywindwi twjwwnwyny wwhynn wwowpubip 524100 N L = =
1230000 (3. PUrArurdtL U4Shdver X = B » &

nnha’
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1231000] - Pwpépwndbp wlwhyubp 531100 - - & = = = _ £
1240000 | 4. 2QUrSUMNHUD ULShYLED e = = = = = = = : = - _ iz
onhg'
1241000] - <nn 541100 - = = - e = = - N . - N
1242000| - Cunbippwiht wlwnhyubip 542100 - B - w 5 = A _ _ B _ -
1243000 - Uy puwwts dwgnud niubgnn wlnhdubp 543100 e = . = - - - - - & i =
1244000/ - Ny wnipwlw swpunwnpywd wlnhyubp 544100 = - = v o = o - . - - i
1300000|P~P. N2 HPLULUULUL ULShULEND brUSNRU LS x = - - N - N = g - = = o
Unhsebr
nnha'
1311000 <hduwlwi dhongubiph hpwgnuihg dnunplip X - - . = = = = = = = N _
1312000| Mwpwpubiph hpwgnuwhg dnunpbp X = N = = = 2 = : 3 = =
1313000| Pwpédpwpdtip whwnhdubiph hpwgnuihg dnunpbip X e e = 2 = = N = X - % =
1314000] Ns wpnwnpulwl wywnhdubiph hpwgnuwhg dnwnphip X = . o B 2 E = g = = _ _
3000000(11l. CLAHLUBLL HUUULUL UPRNSLLMh YWHh8hS X - - 1,630.8 - - 1,557.5 - - 2,026.3 - - 2,125.5
(KUdELNRTY)
(wann 1000000 - winpn 2000000)
5000000(1V. 16HhShSh HbLULUULNLU UL UNL3NRPLEPE - - 2,125.5 - - 2,125.5 - - 2,125.5 - - 2,125.5
5124000 2.4. Yuquwlbpynipput bpbpf Shtrwbuunpdurtt X B - 2,125.5 : - 2,125.5 - - 21255 . < 2,125.5
manynn pupbu dhongliki
5125000 2.5. Ywquwlibpwynipeut huplhg (wqup dhwgnpn) X - 8 - - : s = : B _ " N
hwdungunpuefuut pynigh dinfuwbigynn dhonglibip,
win wuinuf’
5125100]2.5.1. wtiwnwlwi piniob X - - - = % . » _
5125200]2.5.2. hwdwiupubiph pinobiubip X = = - : _ - " &
5126000 26 szl[bmm funfwbnulyurypoutind luqulbpuniay x 0.0 0.0 494.8 0.0 0.0 568.0 0.0 0.0 99.3 0.0 0.0 0.0

wquip dhonghk)
7 _{‘4%,2025;3
sty
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